| Efficiency vs Dxy |
0.1

R

T R T T
007

o

...............................

B T S
T e e e
0 it e o

1.

=
!
*
¥

0955 56-16-10 -5 0 5 10 15 20 25

—=— DQM_TT__mkFit-DQM_original

| Efficiency vs Dz |

—— DQM_TT__mkFit-DQM_modified3

0.1
0.09
0.08t
0.07

0.06f [+
0.05[fl-1-14-
ooaffitbb Nt L

...................................

0.03ft il
0.02'----.......5.!';; ______ ++
0.0k
e

TTT1 | TTTTTT
3

¢ [ .
1le

1 909 ---{1{--L[- {919 |ooe- 29 -- 90l

Py
B

0936 =20 -10 0 10 20 30



	Contents
	Page 1


